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Ritp:/ffarbe i tu-berlin.de/ CEBO/CEBOLONA TXT /.PS; start oltput
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDuO triangle lightnesst*

t* Yoc=Yw - nc=100,

t*LaBINDU9 =IN(A 1ntA2nY)/(ArAon)  (Ynd/100<Y<=Y, ()
L ABINDU9 =IN(A 1+ A2X)/(A2A0n)  (X=YTYy)
t*(3,6)=348 1, (18)=791 " /(90)=1231

log[t*/t* ]=0, m;=0,33

L* =49, t =791

» 1
to=1i 314", A= 16, Ay =0,0488, ¢=0,42
t41g=7¢1,01 A=0 M7, A,=0,0024
3347 8¢ =7 £01 Y718 1

n =1

wXn=02  'xy=5

application
range

LABJINDu9

tristimulus value difference

Yoc=Yw nc=100,
L ABINDUg =IN(A 17 A2 Y)(A2rAon)  (Yad/100<Y<=Y,o)
1 ABINDUg =IN(A 10+ A2X)(A2iAon) - (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X=YIYL|
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

]
s
t+,=791, dY,=0,07, dY,/,=0 1042 _ ¢
lot =0,83 fige 6 A0, 504k m e
QWEO,07,'{§E”:O.937, A £9,0024 ragrg"gaﬂon
dYz =002 Y- 8. 5807 1 9
. 2 =l

xN=0,2 Xw=5

log AY/Y) LABJINDU9
_ tristimulus value sensitivity
SEERY) Yoc=Yw © nc=100
L ABINDUg =IN(A 17 +AZNY)(A2rAon)  (Yad/100<Y<=Yoo)
1 AgINDUg =IN(A 10t A2X)(A2iAon) - (X=YTYy)
AYN=AGHA 17+ A Y)Y =Agn (A 1+ Ap )Y
(dY/Yp=5,9037, Ay=1,5, Ay =0,0438, ¢=0,42
(dY/Y)g=0,7042, A-0,227, A=0,0024
(dY/Y} =0,0007 Y.=18, dY=0,07

LS application
0fMay, range
X NN N
/Y,=0,00421
Pt
xN=0,2 Xw=5

LABJINDu9
tristimulus value contrast
Yoc=Yw nc=100
L ABINDUg =IN(A 17 +AZNY)(A2rAcn)  (Yad/100<Y<=Y,o)
tLaBINDU9 =IN(A 10t A2 )/(AouAon)  (X=YTY)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(Y/dY}g=265,04, Ay=1,5, Ay =0,0438, ¢=0,42
(Y/dY)§=235.34, A =0.007, A4,=0,0024
3&?0,07
B
log(V/dY)-2,37, m;=0,13 o
*

C,=(Y/AY)

application

1
1
1
1
1 range

Ix=1
Xw=5

e LABJNDuSO relative triangle lightnesst*/t*,

e, Yoc=Yw - nc=100,

L aABINDU9 =IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y, ()
1 ABINDU9 =IN(A 17+ A2 X)/(A2yAgn)  (X=Y/Y)
t(3,6)=348* ,(18)=791 t* ,,(90)=1231
t*gg/t*=1,55, Ay=1,5, Ap,=0,0438, ¢=0,42
t*1g/t*,=L.00, A,;=0,007, /5,=0,0024
%3 /t*,=0,43,%,=791,01 Y=18

log[t*/t* J=0, m,;=0,33
1 application
f range
%=1

log(AY/AY,) LABJINDuUO relative

tristimulus value difference
AN/N Yoc=Yw =100,
t*LaBINDug =IN(A1n+A2Y)(A2rAcn)  (Yad/100<Y<=Y,o)
t*LaABINDU9 =IN(A 10+ A2 )/ (A2yAon)  (X=YTY)
dY/dY =(A1+A X (A1 +AY)
dYoo/dY,=4,43, Ay=1,5, Ay, =0,0438, ¢=0,42
dY;/dY,=1,00, A1=0,007, A.=0,0024
dYz ¢/dY,=0,31, Y,=18, dY=7,07 4
t+,=791d .

application
nge

=1
Xw=5

CEB90-4A
log [(AY/Y) | (AYIY),] LABJINDuUO relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc

t*LaBINDU9 =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Y,()
tLagaNDug =IN(A1ntA2X)(A2iAon) - (X=Y7Yy)
@YYV, =IA 10t AaX)/Xull (A 1n+Agy)
(dY/Yhg/(dY/Y)-1.88, Ay=1,5, Ay =0,0438, G=0,42
(dY/Y)g(dY/Y)=1.00, . =0.007. /4,=0,0024
(AY/Yy g(dYIV)=1 53 =18, dY=0,07
v

log[(dY/Y(dY/Y),]=0, mu=—0,13. 5 o
=791, dY,=0,07, dY,/Y,=0,0042} ?g’,ﬁ’é‘ga"m
Ix,=1
Xn=0,2 Xw=5

CEB90-6A
log [(Y/AY) I (YIAY),] LABJINDuO relative
tistimulus value contrast

GGy =(YIBVIYIAY), e ™S VA 60

t*LaABINDU9 =IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y,()

tLagaNDug =IN(A 1t A2 X)(A2iAon) - (X=Y7Yy)

(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIAY}o(Y/AY)=1,12, Ay=1,5, Ay, =0,0438, ¢=0,42
(Y/dY)g/(Y/dY)=1.00, A=0,007, /4,=0,0024
(Y/dY}, g(Y/dY)=0,64 Y,=18, dY=0,07

log[(Y/dY)(Y/dY),]=0, m=0,13

application
range

LABJNDu9 triangle lightness T*
Yoc=L*w - nc=100,

T ABaNDu9 =IN(A1n+AnY)(A2nAon)  (Ya/100<Y<=Yyo)
T*LaBaNDug=IN(A 10 A2 X)/(A2iAon) - (X=YIY,)
T+ (3,6)=348,T* ,(18)=791,T*y/(90)=1231

log[T*/T* J=0, m,=0,33

. 1
*90=1231,47, A =15, Ay =0,0438, ¢=0,42
T*1g=791,01, /3, :0 807, A,=0,@024
T*3,6=347,897 %, 7 J1,01 e

L " I)h:l
=02 "xw=5

application
range

CEB90-1A

logAY) LABJINDu9
AY tristimulus value difference

YomL*yy - =100,
T*LABINDU=IN(A 17+ A2nY)/(A2nA0n)  (Ynd/100<Y<=Y,o)
T*LABINDUO=IN(A 1+ A2)/(A2uAon)  (X=YTYy)
dv:ADn(A1n+A2nY)=A0n(A1n+A2uX) X:Y/Yu
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

logfi¥E0,83 rApreoLeRs Ao 0 5456 ¢=043 = = = =
OQWEO,07,®n:O,OO7. ry 00084 ?;ﬁé'ga“on
10,07 1

CEB90-3A

LABJINDuU9
tristimulus value sensitivity

SEERY) Yocml*w © nc=l
T*LABINDU=IN(A 17+ A2nY)/(A2nA0n)  (Yd/100<Y<=Y,o)
T*LABINDuO=IN(A 1+ A2)/(A2uAon)  (X=YTYy)
AYIY=Por(A iAo Y)Y =Ag (A it AgX)/Y
(dY/Y}5=0,0037, Ay=1,5, Ay =0,0438, ¢=0,42
(dY/Y)g=0,0042, A=0,007, A4,=0,0024
(dY/Y} £=0,0046 Y,=18, dY=0,07

application
range

Pt
XN=0,2 Xw=5

CEB90-5A
LABJINDu9

tristimulus value contrast
Y=Ll w nc=100

C=(Y/AY)
T*LABINDU=IN(A 17+ A2nY)/(A2nA0n)  (Yd/100<Y<=Y,o)
T*LABINDU=IN(A 17+ A2)/(A2uAon)  (X=YTYy)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(Y/dY}g=265.04, Ay=1,5, Ay =0,0438, ¢=0,42
(Y/dY)g=235.34, A =0.007, A4,=0,0024
T (TR ESN®E Y G PES0,
log(Y/dY)2,37 m;=0,13 »*

application

1
1
1
1
1 range

Ix=1
PXw=5

CEB90-7A
CEB91-7N

THT* LABJNDuO relative triangle lightness T*/T*
THT*, Yoc=L*w - nc=100,

T*LaBINDu9 =IN(A 10+ A2 Y)/(A2nAon)  (Ya/100<Y<=Yye)
T*LaBanDuo =IN(A 10+ Ao ) (AaAon)  (X=Y1Y,)
T*N(3,6)=348,T*,(18)=791,T*y(90)=1231
T*9oT*y=1,55, Ay=1,5, A9,=0,0438, ¢=0,42
T*1g/T*,=1,00, A,=0,007, A=0,0024
T3 gT%,=0,43,T%,=791,01 Y=18

log[T*/T*,]=0, m,;=0,33
1 application
f range
%=1

CEB90-2A

log(AY/AY,) LABJINDuUO relative
tristimulus value difference

AYIAY, oozl r gy 100,

T*LABINDU9 =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)

T*LABINDU9 =IN(A 1ntA2) (A2 Aon)  (X=YTYy)

dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=1,5, Ay =0,0438, ¢=0,42
dY,5/dY,=1,00, A=0,007, A,=0,0024
dYs,gdY,=0,31 Y18, dY=0,07 +

CEB90-4A
log [(AY/Y) | (AYIY),] LABJINDuUO relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100,

nc’
T*LABINDU9 =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDU9 =IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(@Y/Y)o(dY/Y}=0,88, Ay=1,5, Ay, =0,0438, G=0,42
dY/IY)g/(dY/Y)=s 2. A=0,007, A=0,0024

log[{@VIVY(@YIVL=0, my=-0.13 1 o
T*,=791, dY,=0,07, dY,/Y,=0,0042} ?g’,ﬁ’é‘ga"m
Ix,=1
Xn=0,2 Xw=5

CEB90-6A
log [(Y/AY) I (YIAY),] LABJINDuUO relative
tistimulus value contrast

GG =(YIBIYIAY), 5 ® YANE 130
T*LABINDU9 =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUO =IN(A 1ntA2)/(A2uAon)  (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIAY}o(YIAY)=1,12, Ay=1,5, Ay, =0,0438, ¢=0,42
(Y/dY)g/(Y/dY)=1,00, A=0,007, /5,=0,0024
(Y/dY} (Y/dY)=0,64 Y, =18, dY=0,07

log[(Y/dY)(Y/dY),]=0, m=0,13

application
range

CEB90-8A

TUB-test chart CEB9; LABINDU3*(Y) & T*(Y), Yac=(Y&L*) wrcBne =0,43, with more data
Absolute and relative lightness, sensitivity and contragt=A5, A1n=0,007, A=0,0024, A,~=0,04
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